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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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Mohit.. Z3 hours ago 1 subscribers S 1.  RAM BHAN 23 hours age
Thank-you Sir for today's Amazing Class. . .. & : 13
» o " -J-"
HI-I'\-I

My Answer for today's homework is- { OF REPLY
Option B==13...

Read more
Surbhi Sinha 232 hours age

g GP  REPLY

Lid

Chhavi Saxena 23 hours ago

oy GP  REPLY

Home work answer is option B (13)
Very Mice Session Sir Thanku So much dear Sir

g GP  REPLY

| Garima Rathore 23 hours ago 1 subscribers
Homework answer

Option (b} 13
Very nice session sir

15 &R REPLY

The Shield 19 hours ago 14 subscr
Ansb. 13!

Thank you so much sir
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g GP  REPLY

kuldeep singh 20 hours ago
13 line

g GP  REPLY



FInd minimum number of straight lines In
figure?
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Find the ODD option (?)

12,23,9
21,7,16

25,6,12 =
13,12,19

Cowx



Find the odd one out(?)

A. Scalpel : Surgeon%%ﬂ
B. Chisel : Sculptor / Ijﬁhv'l'\’
C. Anvil : Blacksmith /E%?r deR

D. Paper : Book / PTIY : <_



Find the option which should replace (?)

DON : 463
ROAM : 7612
FREEDOM : ?

713462
6755462 i
6755452
. 6555345

OO w>



Find the odd one out(?)

A. KMT
B. OQV -
C. FHO
D. QSZ



Find the option which should replace (?)
CBA, FGE, ILI, LQM

OVP
NVQ
OUP
ovQ ——dj==

OO wp




Arrange the given words in the sequence in which they
occur in the dictionary.
1. Heart

2. Henry
3. Heavy 1
4. Hence
5. Hedge

(1) 15342
(2) 31452
(3) 13425

(4) 13542



Arrange the following words in meaningful order.
1.Satisfied /AP

2. Inquiry / 5 dTd |
3. Problem / T T

4. Solution / JATYTH
5. Office / HTAleTq

(1) 32415
(2) 35124

(3) 35241 i

(4) 43521



Find the missing term(?)

11:13::19: ?
(A) 20
(B) 23 e
(C) 30

(D) 26



Find the missing term(?)

19: h::20: ?
(A) a
(B) b -~

(C)c
(D) d



Find the option which should replace (?)

Air hostess : Flight :: 2 : ?
T B 38 ::? :?

(A) Doctor : Nurse / STae: T4

(B) Accident : Truck / gﬁZTIT: ¢<h

(C) Actor : Role / ATHAAT: ‘{&IT:F[

(D) Teacher : College / oTeren; hicier ——



Ram is fourteenth from the right end in a row of 40 boys . What is his

position from the left end?
TH 40 ISk hi Uk YTk H STe DR A Tieed 8l 910 BR | 3ThT fufa
T2

(A) 24th
(B) 25th
(C) 26th

(D) 27th —~—



@ A dice is thrown four times and its four different positions are shown below.
Find the number on the face opposite the face showing 2

Ueh T IR R bl STl %@Rsﬂoh IR S-SRI i feemg M §1 2

faTd §U dgX o faUuRid dgx WR G &l Ul T

opwp
oun p W




Find the missing term(?)

M Q C M Q CM

(A) QCMCQ
(B) COMCQ e
(C) CQCMQ
(D) COMCQ



Which number will replace the question mark ?

T R H

D \" W
48 62 ?
(A) 70 (B) 64

(C) 62 ——ifjmmii) 63



Which number will replace the question mark ?

33 44 24

44 66 48
55 17 ?

(A) 70 —ifmm ) G/
(C) 60 (D) 48



Find the odd one (?)

(A) 7465
(B) 2413

(C) 5879 ——jemm
(D) 3645



A’s father is B’s son-in-law. C, A’s sister , is the daughter of P. How

IS P related to B ?

AT fUdT B BT SIS 21 C, ADI I8, P Bl At 21 P, B T A HafUd 82

(A) Brother

(B) Father

(C) Grandfather
(D) CND

(E) None of these



Find the odd one out(?)

B. 063 e



Find the option which should replace (?)

212 : 436 :: 560 : ?

(A) 786
(B) 682
(C) 784
(D) 688




Find the option which should replace (?)

248 1 3:: 328 : ?

(A) 7




Find the option which should replace (?)

Crime : Court :: Disease ;: ?
3URTY: <TATAY :: IT:?

(A) Doctor / fefrca®

(B) Medicine / qdT

(C) Hospital / SRUATY e
(D) Treatment / SUAR



Find the odd one out(?)

A. Cabbage/tﬁlTTﬁ’l-ﬁ -

B. Carrot / TITeIR® o
C. Potato / 31l¢f

D. Beetroot /PG



Find the odd one out(?)

A. Cabbage
B. Carrot
C. Potato
D. Beetroot

-----



Arrange in logical order :-
1. Emplane
2. Empower
3. Embrance
4
5

. Elocution
. Equable



Arrange the letters to form a word and suggest what is it
wm%aqﬁ%ma{&lﬁaﬁmmﬁaﬁvwi%
e Rl &: -

NGDEALN U

A. State / XIsY
B. Country /é“s’[ ~af

C. River /Tcﬂ

D. Ocean AR




A=1,B=2,N=14, Then

BEADING = ?

A. 21541297
B. 25141479
C. 25149147 -~
D. 21541497
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D7 .3 =421,

11 + 6 = 56060,
9+4 =530,
6+2=7

A. 444

B.412 i
C.4/75

D. 487



A Is the son of B. C, B’s sister has son D and a daughter E. F is the
maternal uncle of D. How is E related to F?

ABPHTACTIE | C(BPIIE) PTACID B MR TP dCl E | F, D BT HMHT 2
E, F 9 »Y Hald 82

(A) Sister
(B) Mother
(C) Cousin

(D) Niece *

(E) None of these



